CLASS-12 JEE - MATHS

SUM AND DIFFERENCE OF ANGLES IN TERMS OF SIN_1 AND COS_1
Forallx,y € [-1,1]

1x+sin7ly =sin‘1(x\/1—y2+y\/1—x2),ifx2+y2 <lorxy<0
=1-[—sir1_1(x\/1—y2+y\/1—x2),ifx2+y2 >landx,y >0

sin™

=—1-[—sin_1(x\/1—y2+y\/1—x2),ifx2+y2 >landx,y <0

sin"'x—sin"ly  =sin"}(xy/1—y% —yy/1 —x2),ifx* +y* < Lorxy >0
=1 —sin" (xy/1 —y? —yy/1 —x2),ifx>* +y2 > landx > 0,y < 0
= —m—sin"!(xy/1—y2 —yJ/1—x2),ifx>+y2 > landx < 0,y > 0

cosTix+cosTly =cosTlxy—41—x%J1—y2];if —1<xy<1x+y=0
=2m—cosTixy—y1—-x2J1—-y2];if —1<xy<1lx+y<0

cos'x—cosTly =cosT!(xy+vV1—-x%/1—-y2);if —1<xy<1x<y
=—cosI(xy +/1—x2/1—y2);if —1<y<00<x<1x>y
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